Virginia High School League

Scholastic Bowl, 2001-02 season

District Competition, Match #17

These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the District level. Shawn Pickrell and Adam Fine are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a) Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District before all District champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups
1.
THIS IS A COMPUTATION QUESTION. A shopper buys a $40 sweater at a 20% discount, a $50 blouse at a 40% discount and a $50 skirt at an unspecified discount. If she paid $100 for all three items, what was the discount on the skirt?

ANSWER: 24% (The sweater was $32, the blouse was $30, and therefore the skirt was $38, and at a 24% discount.)

2.  
Her show “AM Chicago” debuted in 1984, and quickly outdrew “Donahue” in that city, leading to the program going national.  What afternoon host is very rich, has a Book Club, and runs Harpo Productions?

ANSWER:  OPRAH WINFREY (either name acceptable)

3.
One letter written by this murderer, believed by most to be a fake, gave him his popular name. The second letter, which included a missing piece of kidney from one of his victims, is believed to be genuine. Who was this man that murdered at least five prostitutes in London in 1888, whose case remains unsolved to this day?

ANSWER: JACK THE RIPPER
4.  
A report in the March 2000 issue of Nature magazine analyzed its mitochondrial DNA, and concluded that it was a separate species and not an archaic form of Homo sapiens.  What type of human thus likely came out of Africa first, only to be superseded by modern humans less than 100,000 years ago?

ANSWER:  NEANDERTHAL Man (or NEANDERTAL)

5.
“I would prefer not to.” Such becomes the most-used line of what title character of a Melville short story, a man who was originally hired to write documents for a Wall Street lawyer?

ANSWER: BARTLEBY THE SCRIVENER
6.
What country, other than Ethiopia, was the first country in sub-Saharan Africa to gain independence, doing so in 1959 and choosing the name of a great West African empire of the 8th and 9th centuries?

ANSWER: GHANA
7.
THIS IS A COMPUTATION QUESTION. What is the product of the binomials 4x plus 2 and 6y minus 3?

ANSWER: 24xy – 12x + 12y - 6
8.  
They make up 98% of DNA, have no known function, and carry no genetic information.  What sequences of nucleotides are spliced out when proteins are synthesized, leaving only the useful exons?

ANSWER:  INTRONS
9.  
He is derived from the Neapolitan servant of commedia dell’arte, Pulcinella (pool-chee-NELL-ah).  The hero of many English puppet shows, who kills beats his wife Judy in a fit of rage, and was the inspiration for a nineteenth century British satirical magazine?

ANSWER:  PUNCH 

10.  
Mario Lemieux won back-to-back Stanley Cups in 1991 and 1992 with what Pennsylvania franchise?

ANSWER:  Pittsburgh PENGUINS
11.
While “The ship is anchor’d safe and sound, its voyage closed and done,” the Captain lies on the deck, “Fallen cold and dead.” These are lines from what elegy written by Walt Whitman after the death of Abraham Lincoln?

ANSWER: O CAPTAIN! MY CAPTAIN!
12.  
Pablo Picasso painted 44 variations of the work’s theme.  In it, the audience shares the same view as the parents, whose reflection can be seen in the mirror on the back wall.  What painting, the foremost work of Diego Velazquez, shows the Infanta of Spain and her companions?

ANSWER:  LAS MENINAS (or The MAIDS OF HONOR)

13.
What is the name of the cylindrical glass tube that has a plastic base on the bottom and is open at the top, with volume lines on the sides, used to measure a precise amount of a liquid?

ANSWER: BURET

14.
What name is given to the intersection of the two rays of an angle or to a meeting of two sides of a polygon?

ANSWER: VERTEX
15. 
Owen Glendower was the last person to hold this title as leader of an independent country. What is this title which today is given to the immediate heir to the throne of the United Kingdom?

ANSWER: PRINCE OF WALES
Second period: 10 directed questions for each team

Questions with an A after their number will be read to the team that selects set A of questions; questions with a B after their number will be read to the team that selects set B of questions.
1A.
What word describes a large number of icebergs floating together, to fill a container tightly, a group of animals, especially dogs and wolves, or a group of Cub Scouts?

ANSWER: PACK
1B.  
Which fiery member of the Capulets killed Mercutio in a street brawl, only to be killed himself by Romeo?

ANSWER:  TYBALT
2A.
THIS IS A COMPUTATION QUESTION. What is the sum of the numbers 1 through 50?

ANSWER: 1,275

2B.  
Beethoven originally dedicated his third (or Eroica) Symphony to what man, but then scratched that man’s name out when the latter declared himself emperor?

ANSWER:  NAPOLEON Bonaparte

3A.
Who discovered the “conditioned reflext” in his famous experiments using dogs, food and bells?

ANSWER: Ivan PAVLOV
3B.
Between June 1864 and April 1865, Ulysses S. Grant besieged what city, which held Richmond’s only railroad link to the outside world?

ANSWER: PETERSBURG
4A.  
The American version of the foehn (FAIN) found in the Alps, what warm, dry wind pivotal to agriculture blows downhill on the east side of the Rocky Mountains?

ANSWER:  CHINOOK
4B.
What action done with pointer variables consists of going to the memory location and obtaining the value at that memory location?

ANSWER: DEREFERENCING
5A.
On Wednesday, October 17, a threat to what nuclear power plant forced the closure of Harrisburg International Airport?

ANSWER: THREE MILE ISLAND
5B.
What is the simple organic acid with formula HC2H3O2 which gives the odor and flavor to vinegar?

ANSWER: ACETIC acid

6A.
What are the auxiliary verbs in this sentence? I was helping him so he could do the work.

ANSWER: WAS and COULD
6B.
What was the name of the almanac in which Benjamin Franklin penned many of his proverbs?

ANSWER: POOR RICHARD’S Almanac

7A.
THIS IS A COMPUTATION QUESTION. What is the geometric mean of 4 and 15?

ANSWER: 2 * sqrt(15) or sqrt(60)
7B.
Who was the Democratic candidate for mayor of New York?

ANSWER: Mark GREEN
8A.
The Volga River, the longest in Europe, flows into what body of water?

ANSWER: CASPIAN sea

8B.
The Fillmore administration, in 1852, authorized Commodore Matthew C. Perry to go to what nation which had been closed to foreigners for over two centuries?

ANSWER: JAPAN
9A.
What property of molecules exists when the centers of positive and negative charge do not coincide?

ANSWER: POLARITY
9B.
What is the name of the two lines towards which a hyperbola curves, but does not touch?

ANSWER: ASYMPTOTEs

10A.  
She helped lead the Israelite army against General Sisera and the Canaanites.  Who was this woman, the only female Judge?

ANSWER:  DEBORAH
10B.
In what type of radioactive decay does the nucleus emit an electron?

ANSWER: BETA decay
Third period: 15 tossups
1.
THIS IS A COMPUTATION QUESTION. An angle, when tripled, has a supplement of 144 degrees. What is the measure of the original angle?

ANSWER: 12 degrees

2.
On April 18, 1942, a group of carrier-based US bombers were able to attack Tokyo. This raid was named for what man who commanded the bombers?

ANSWER: James DOOLITTLE
3.  
Born in Naples, he completed a marble sculpture of Apollo and Daphne for the Borghese (bor-GAY-zee) Palace, as well as a portrait bust of Louis XIV.  What Italian Baroque master sculpted the masterpiece The Ecstasy of St. Theresa?

ANSWER:  Gianlorenzo BERNINI

4.  
In a 1923 play George Bernard Shaw retold the story of what French saint, who was canonized three years earlier, and in the story offers to return to Earth, only to be rejected again?

ANSWER:  JOAN OF ARC (play is “Saint Joan”)

5.
What property of a material causes it to emit visible light when struck by ultraviolet light?

ANSWER: FLUORESCENCE or PHOSPHORESCENCE
6.
What pharaoh of Egypt ruled between 1279 and 1212 BC, and is commonly thought to be the Pharaoh mentioned in Exodus?

ANSWER: RAMSES II
7.
Amory Blaine, a student at Princeton, is the main character of what first novel by F. Scott Fitzgerald?

ANSWER: THIS SIDE OF PARADISE
8.
THIS IS A COMPUTATION QUESTION. The Montreal Expos are allowed to play in 2002, and reward baseball by averaging 6,500 fans per game. Remembering there are 82 games in a season, what is their total attendance?

ANSWER: 533,000
9.  
He discovered parthenogenesis in aphids, as well as protozoa, which he dubbed “animalicules.”  What Dutchman ground over 400 lenses for microscopes of up to 300X magnification, allowing him to see red blood cells and bacteria?

ANSWER:  Anton van LEEUWENHOEK (LAY-ven-hook)

10.  
A lens grinder by trade, he believed in Descartes’s (day-CARTS) mathematical interpretation of the Universe, and also that human action was motivated by self-preservation.  What Dutch-Jewish philosopher wrote the Ethics?

ANSWER:  Baruch SPINOZA
11.
What eight-letter word was originally used to describe the red humor of good health, and is used today to describe something of a blood-red color or someone who is cheerful and optimistic?

ANSWER: SANGUINE
12. 
In caves, which conical-shaped limestone structures grow upward from the cave floor?

ANSWER:  STALAGMITES
13.
What is the eccentricity value that a circle would possess?

ANSWER: 1
14.  
Also known as the Isle of Apples, Morgan le Fay ruled over what land of Paradise, where King Arthur was sent so that he could heal his wounds after his final fight with Mordred?

ANSWER:  AVALON
15.
What adjective describes mutual funds whose shares are sold without a sales charge?

ANSWER: NO-LOAD
SPARE QUESTIONS (In the second period, try to replace the question discarded with the a spare question in that subject area – i.e. science for science, social studies for social studies, etc.) Be sure to cross out the questions if/as they are used.

THIS IS A COMPUTATION QUESTION. A line has a slope of 3 and runs through the point (3,4). What is the value of y when the line runs through the point (5,y)?

ANSWER: 10 

What Indian tribe was known as the “Five Nations” and was a dominant force in New York politics before the Revolutionary War?

ANSWER: IROQUOIS
In 1862 he began to take lessons from Mily Balakirev, who conducted his first symphony seven years later.  Glazunov and Rimsky-Korsakov finished the opera “Prince Igor” for what composer and part-time chemist?

ANSWER:  Aleksandr BORODIN
In plants and invertebrates, it is a single layer thick, and contains an outer noncellular cuticle that protects those organisms from drying out.  Vertebrates, on the other hand, contain multiple layers of what dead, hardened cells, forming skin?

ANSWER:  EPIDERMIS
While living for six years at Horton, near Windsor, he wrote “Il Penseroso,” “Lycidas,” and “Comus.”  After a twenty-year hiatus where he was more devoted to the English Commonwealth, who returned to poetry in the 1660s with “Paradise Regained” and “Samson Agonistes?”

ANSWER:  John MILTON
All questions © 2001 by Shawn Pickrell. Unauthorized use, as described on the first page of this document, is prohibited.


